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QUESTION 1

Which OpenStack component is responsible for user authentication and authorization? 

A. Glance 

B. Nova 

C. Keystone 

D. Neutron 

Correct Answer: C 

 

QUESTION 2

Which statement is true about the OpenConfig data model? 

A. It supports YANG 

B. It provides UDP-based transport 

C. It is embedded in all devices that run the Junos OS 

D. It uses MySQL as the default database structure 

Correct Answer: A 

 

QUESTION 3

Exhibit: Which type of the topology is shown in the exhibit? 
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A. EGP topology 

B. spine-and-leaf topology 

C. tree topology 

D. hub-and-spoke topology 

Correct Answer: B 

 

QUESTION 4

Which two benefits does the Junos Telemetry Interface(JTI) provide in an AppFormix architecture? (Choose two.) 

A. JTI enables you to deploy security policies to vSRX devices 

B. JTI uses a push model to deliver data asynchronously 

C. JTI enables you to collect and export data from resources such as firewall filters 

D. JTI uses an SNMP pull model to eliminate additional processing 

Correct Answer: BC 

 

QUESTION 5

Which cloud architecture provides developers a framework on which to develop and customize applications? 

A. DBaaS 

B. PaaS 

C. IaaS 

D. FWaaS 

Correct Answer: B 
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